ﬂSSlq‘-NN\ZNT #7 QO

CMutTipls Crojes | -
DT RIVATIVES

~ SolLouTioNS

\' MARCH 2012

@UNCTiOI\) D

Fx) = Inex®) |
eS‘inxQOSX-

Sol™. SinxcosSx
’ - 3¥%* e ‘ SinkCosy |
-'F st )( | "‘ e CQOSZJC-Sin,z\L>Qn(,é) .
'(esinx.cos‘x)z | -
ANSWER B
E:UMCTiON 2)
Y = (lncosx) ¥ sol™.
lhj ﬂn (\nCo'Qx)gog}L
lnj cosx In ¢ |r\_coS)¢> |
L= —singIntncosy) + 1 1 (sin) oebi
Y . | | (Incos k) c}){y,
, CC‘QK . -
(lncosx] ["‘ Siny In (|nc_os)¢> I l L—Sm@]
(lnc‘osx,

j =
ANSWER

[:F UNCTION 3} 3(‘(15= Inx Qoé;
- - Incy?

o ‘ Inxcos
' ’ . .' - . z 2- :
flewy = L cosy ~ sine [0 x ](Mx)—_ % nxcosx

| o (\h()ﬁﬂ)?
AN SWER @ - |




&F UNCTION '—IJ_

:C67¢3= cosk e
Sol™.
oy = 'S‘ﬁxe + e cosr
= e (- SID)L—FCGQXD

fexy = 2ln0ei+se®) — 210 (3x*44L)

) = 2 (d 3410X |
— X ) _ 2 (exty)

xH+5¥* z
: B HUX

"ANSwer

LI:UNCTiON (;,)
- f0)=In (S‘:nce."?'l)) ’

Soln. ,_
o= 1 cos(eX) e
Sm(@")

Prswer @)

LF‘_Urxlc-rio,\, :})

_'FCY‘) - ,h.. (ecosu
I~ x

Soln.
foy = cosy — n (lnx>

. |
§2) = —giny — 41— L
Iny X

ANSWer |




LT:UNCTEON 6:)

fex) = InOx®+x)
Hy* t+2

Sol™ .
e

C e
FPO0 =

| (s (H+2) — Ry In(x?+x)

AnsweR (4 +2)"
LI:UN CTiON j

XCOSY

€ =y
Soln.. |
"K.COS

s

. (cot y - (Sm]\ x)

oS
xC xcos

cosy€ 7 — xsiny€ )' \+I
Cc oS e"“-SI _ _ b xcoSY
y | = ¥y + xsiny€ j’"
s xcosy |
y' o= COS‘ye — 1

_ o ‘_I-— %Sinjel Sj
ANSWER 1‘!'»
[FUNCTiGN |Q

Fx) = In ((Suncxss))cos Kss))

Soln . :
$ey) = cosix®™) In (sine®™))

£200) = - sin0e®) - 557 Intsin0ED) + Y

S\r\UL

) |
o L) 65



E—:UNCT]ONJ ll) | - ’_ | @

Y= _(ln )"
gol®.
X = ('x\mﬂ
\nj = I~ LKan)x
\'mf = X In Cxlny)

_\._‘jb = ln(y;lny\--l- A (lnx + L x)')é
Y ' xInx '
Ly = Inexinyg) + xinwtx
y \j ~x Inx
ds \ncx|m¢3+ I+ L
y\f 1nY

j"—'_ T\ht]’.‘n\c)-[—\j + Y

lr\y,
HTLS‘WQ/‘LJ . _
U:U_NCTION IZJ
DC.('X) = ‘Y'L (egln(x?'-l-Z(p )IG

SO \n" Sm(p-na

. ; () = \6(!‘\( g\ﬁ(xané\))\s

-

COS 3 (){'\‘2‘:"31 u’
(x‘-rze (,g 265

eSm (-B-—Z(D

SinX

FouneTion 13 $ex) = e +1
| : , In (SinC)C‘"))
soln. . ' gmu_!_I) _
T noe _ SinY \ (sinty®) — _]_ COSL)L>2'>¢ (_e | N
5’ (%) e coSy InLSi ) ST |

(I (s zz»)?'

ANSWER



EULCTiOr\[ l'—g

2L\© | |
_'F(_x) = Ce )  ¢&— notg THAT | Forjo'}.' bTAcRL“}S
( & 'H\zy ane veny :Mporf:An‘t')

o
Sol™. £ ) =_-E_3:‘_z
£ren) = Ciny )
6"1-2_.)4 (hy — -‘-)Ze)c
(lma
- e er
Inx x(nw)

ANSWER O (or . l:)/c oF M\SS\NS bf‘AQ\AETS) | ‘

LFUNCT\ON \a

a%c) = e (%
" S.m\,D‘b
<ol . - |
fexd = %\n% _ xlngine
o)== Ine s 'x(_x) ~ Inginx - (sln 3(:03)4

= \r\y,.l—\ — \n.'s‘\nx — xaoTY

Q’Y\,SW-QIL -

IEUNCTlOM l@
Ly = tanT? (3x 4D

Sol. . .
£r0%) = 19 Lan (9x+?) Sed (ox+?) - 9

AN.SWeL '




LF UnCTioT lﬂ

fex) = cos (Invw)
soln. ,
£ = - sin (o)« AL 1
Uk 20¢
= - gin (lnrg) |
ANSWER
E’Unction'@
fex) = sinx
W
Solm. ' _
£y = (CosyWx - —%@3‘“"
answer (©)
l‘\:Unc",t'lojn,, l;J
|
:F‘—X) = (chsc)ex+
Solf. 2t
f OLB (smy\e + e Con

AN SWeL .
i@r\chom‘ ?_9) .

Y= (Sl'n\/,))‘
Sol™. |
\n} = % Inginy |
y> = Insiny + ) (cosydx
\-f Siny

N2 = Siny)” (lnsxmt + xco{y)

CANSWOL O

EUr\chon ZIJ
y- Ty *

gol™. -2
N Y - b ogin \3Q09 Y A \
f = ]’ oey
P
I = '@mﬂ /BCOSJ

ANSWEn .



